Homework 5 - Math 140

Solve the following inequalities.
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9. For each of the following sequences, determine if it is growing linearly or exponentially. If it is growing linearly, then
find the growth rate, and if it is growing exponentially then find the growth factor.
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(a) 18, 24, 32, ==, ...
(b) 60, 90, 120, 150, ...
10. A hot cup of coffee that is 90°C is placed outside on a day when it is 0°C. According to Newton’s law of cooling, the

coffee will cool at an exponential rate. Find an equation for the temperature of the coffee T as a function of time ¢ in
hours, if the coffee is 6°C degrees after one hour.



